	Chemistry in Action


[image: image1.png]



Complete the summary by using the following:
fast

quicker
increasing

temperatures
unchanged

slow

slower

decreasing

transition 

catalysts

Chemical reactions occur at different speeds, 

e.g. an explosion is a very 1____________ reaction.
       Oil formation is a very 2 ____________ reaction.

The speed of a reaction can be increased by 

(a) 3 _______________ the concentration of the reactants.

(b) 4 _______________ the particle size (increasing the surface area),

(c) 5 _______________ the temperature.

Food is stored in a fridge because the lower 6 ________________ decrease the speed at which the food decomposes.

Car exhaust systems rust 7 _______________ than car bodies because of the higher temperatures of the exhaust. 

Sawdust burns 8 __________________ than a log of wood because the sawdust has a smaller particle size. 
Magnesium ribbon burns 9 _______________ than magnesium powder because the powder has a larger surface area. 

The reaction of chalk with acid can be slowed down by 10 __________________ the concentration of the acid. 

11 ________________ speed up reactions, but are not used up during the reaction and can be recovered chemically 12 _________________.
13 ___________________ metal catalysts in car exhaust increase the speed at which toxic fumes are converted into harmless gases. 
